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3362 1290 hqftrt Spftr 1 ,B2rlq/if i, 1rI1 rurlqnr1 +< u,riul. 1,32 20 2.64

33651 1 25 Uqlrppnilhgl.ll 250ilq +< 4hrlurqurn 200 30 6

33651 1 25 Uqfrppnrlhghh o2 200riq/5d1 +< uptlu\ t672 20 33.44

33621 390 UdfrnrlLupntr 200rtq +< 4hrltuhunn 62 4500 279

33621762 tlttpn4f ulf Li 5,iq +< rlhqtuhunn 7.8 12000 93.6
A6nnllA J30Z | | 4U Utip4|rqfh 10 tiq +< 4hqurhu-rur 10 15000 150

33651252 ULtuuurprrqnp l ilq q< qt qr-uhu-rur 171, 2770 473.67

336217 10 Urnhhnpnl50 ilq +< qhrlurhruur 3 3600 | 0.8

33621420 Uur npr-lur ununlrh +O Ltq q<
4hrpuhrurn 75 2400 tB0

33621420 Urnnpr{uurnuurfrh 20 dq +< rlhrpuhuur 18 6000 t0B

33621420 Utnnptlr,r.ru ur tu ur f tr t 0 LIq +< rlhlurhurn 18 1000 IB

33661 1 21 Ughurf luur$gf1u ppnt 1 O0dq +< 4hrlurhunn 17 12000 204

33651 1 70 Ugh\L".l]rp pu. ru2pfr 30 Lrq/q +< qup\nra 500 10 5

33651 1 1 1 Urfopufrgfflrh 2s0Lrq +< rlhrlurqtuur 50 240 t2

33651 1 1 1
Urf opufrgf f b p pu{nrpurhurppnr-
250 LJq/5dr + 62, 5LIq/5dt

+< uprlrutt 3s00 30 t05



33621761
U g h ur |r1u ur fr gfrpr ppnr-,

[wqtt bq h n Ldh h h nnop u h n
+< 4hrlurhurtn T2 40000 480

33651 1 1 1
Urlopufrgf 1]l b ppu{nrluhruppnr
1 25dq/5d1+ 31,25 dq/51I1

+< up{ut1 2000 30 60

33651 1 1 1 Uilopulrglr1]lh2 50ilq/5il1 q< un{tutt 800 25 20

3367 1 1 14 uilfLn$[[rtr1 50riq +< rlhquhurn 4 2400 9.6

336312'10 trhurunihpurqn! luqlq +< qtup\nrd 870 30 26.1

33631 230 'llnrl]r4nh ]nr1 1 oodq/d1 +< up{tu\ 850 35 29.75

33621720 trfrunqpnlnl 2.5dg +< 4hrluhurtn 1,4 1080 | 5.t2

3362 1720 trfrunqpnpnl 5dq +< 4hrltuhuur 7.8 15000 fi7
3362 1720 Ffrunqpnprp IOLIq +< 4hrpuhurtn 29 7500 2t7.5

33651 1 31
Unrl$uilhldopuurqnl, urpfnlhpnqphil
800d4 +160LIo

+< 4t ltuhtutn 450 60 27

33651 1 31
Unrp$uilhfdoBuurqnl, urpfrtihpnq phri
400LIq + 80LIq

+< 4hrluhrutn 1"0.2 r20 1.224

33651 1 31
Unr-pStudhlaoBuurqnl,
npfrrltrpnul p[ti200 I 40, 1 20tt1

+< ultlrut1 680 30 20.4

33631 260 3n4 50Llqid1 +< uprlu\ 2s0 35 8.75

33661 1 53 'IbpuuLihnuqnL  ddLl;.. ILI1 Y< urilr-qnr 1u.r 55 100 5.5

33661 1 53 'Ihpuuiilhtnurq ntr ur\Lrur\tup. 1 LIq/LIl, q< uprltut1 690 118 8t.42

33621 380 'Ifrqopu[L 0,25LIq +< rlhrpuhurur 5.5 6000 33

33691212 'If nur{f tr+lh uq hplrrlf h45 0 tlq+ 50 dq +< nhlurhurtn 103 900 92.7

336313'10 'I[\pnQhtrru\50tlq +< rlhrluhurtn 15 7500 fi2.5

33631 31 0 'If\ln$hLtu\ rlnLr4nq 1 0Llq/q +< qtup\nrd 390 110 42.9

33631 31 0 'If \1n$hLur\ 4nh4n1 s0dq/q +< ultup\nrd 15 10 450 679.5

33631 31 0 'Ifr\pn$htrtu! 25 tiq/rl1, 3il1 +< urlqnr-1u 78 150 1t.7

3361 1 1 70 'Ipnnur{hpfrtr +ouq +< 4hrluihunn 6.5 6700 43.55

3361 1 1 70 'Ipntn ur tlhpfrtr B Otlq +< 4hrltuhurtn 47 720 33.84

3362 1410 LI[ritlurr.rurur-n]'rb 20 ttq +< qhqurl'rtur-n 125 900 fi2.5

3362 1700 lfhurnqpnpl 25dq +< rlhrlul-rurur 17.8 5 160 9t.B4B

3362 1700 Uhtnnqpnlnl 50[q +< rlhrlurhurtn 12.4 720 8,928

33621 760 htrulurtqpl-r1 S.tq +< nhnruhrutn 5 2000 t0

33621 760 hl-rulurqplrl 10ilq q< rlhqtuhtutn 5 6600 33

33621 760 htrurptuulpfl 2Otlq +< 4hq uhun 21. 10000 210

33621520

33600000

htrtupuqplrp+ hfr4pnplnl phuqlra 1 0riq
+25tio

+< rlhqr-uhurut 20 12000 240

hpfrppnilfrgfrh ur\trurpu. 1 Oriq/q +< qrup\nr-d 1300 20 26

33631 250 hprutrnl96% +< tJr-p 1500 3s0 525



l'

33631 250 hptutrnl 70% +< lrtnn 600 30 IB
33661 1 56 fdlrrinlnl Stfq/d1 q< unilurlr 415 180 74.7
33631 290 hpnrqpn$trb 20tiq/ri1 , 10011 +< oohlr

1 1 l'-l 790 30 23.7

33631 290 I.pnrulpn$htr 2OOriq +< 4hrlurhurtn 6.5 1000 6.5

33631 290 hpnrulpn$htr 400ilq +< 4hrltuhunn 19 4500 85.5

33631 290 hpnr-qpnShtr 600riq +< 4hry-uhunn 200 1080 216

33691 203 Lnqurpnurh 25dq +< qhrluhrur.n 45 720 32.4

33691 203 Lnqurptnurtr SOLtq +< 4hrpuhrutn 4T 5600 229.6

33691 203 [-nqurprnu-rh 100dq q<
4hrpuhr-utn 67 8400 562.8

33671 1 31 I-nprutnurl[tr lOdq +< rlhrlurhurur 22 600 132

3366 1 1 16
t.brln\urlhh 1n Lbn Llp LbpLup !LILuL 20dq/d1

2LIl
+< r,urlqnrlu 27 100 2.7

33642230 I-hnplrpopu$r t00Lr!q +< 4hrlurhunn 1,4.4 4500 64.8

33621 51 0 tturqurnqpfrl 25rlq +< 4hqurhruur 4 4640 18.56

33621 51 0
i.^.eruulu)nqllllL suuq +< 4hqurhtutn 1.2 9060 108.72

33621 690 tltup{t 4f1n1 25LIq +< 4hrluhunn 27 8800 237.6

33621 690 9runr-lhnhtnt 6.25 Llq +< nhlurhuru 16 3600 57.6
33621 690 Uup{ha[1n1 12.SLIq +< 4hqtuhtutn 2T 6000 126

33621 370 hqnunppir4f dnlrntrf rnprurn 20 LIq +< 4hrltuhurn s0 15000 750

33691 231 9ui6f nrd, lunlh\uLShSt p"f +< qtrrlu-rhurur 45 1,4400 648

33631 300 QhunulpnShlr s0dq +< qhrlurhurur 56 r200 67.2

33651 1 48 9lntnpfdurqnl lrpp. 1Odq/q; 15q +< r-utupLnr-d 180 10 t.B

33691 '186 'lllrpruqhurur tl Boo dq +< 4hqtuhr.utn 54 5100 275.4

33691 1 86 t)|rptughur,uil aoorlq +< qhqruqurtn
lrd

1,L 9360 102.96

33691 1 96 llpuqhpfr4nh 2Llq +< 4hqurhuu 28 720 20.16

33621140 9pqlrqnqphl 75Lrq +< 4hrltuhurtn 80 9000 720

33621 750 rt,l.Sh4h"lfrtr1 0tiq q< 4hqtuhtuu I4 3000 42

33621 360 Lfrurpnqfirghnht 0. Stlq +< 4hrltuhrurn 8 800 6.4

3361 1 1 50 'llurh\phuurftr tsouq +< 4hrlurqrurn 115 1_0000 n50

33691124 .|}frputrnhl 250LIq +< 4hrltuhrurn 230 15 3.45

3362'1580 Zfr4pnpppnpfnuqlr4 25dq +< 4hrlurhuru 1.2 900 t0.B

3362 1640 Zfrqpntlnprnlrqnh 5 LIq/q; 3q q< qup\nrd 750 50 37.5

33642220 tlhplrlulpt lLf qnlnlr 4dq +< 4hqruhrutn 73 r440 | 05.12



33661 1 33 Tl I ll-Un4nqu, L1tunpFrlnqtu 25LIq+2501Iq, +< qhrpuhuru 91 1 1000 t00l

33691 1 29 Lunnplrnr.ih pL"ph+ 0.9%, 100t11 +< uptlu\ 21,0 20 4.2

33691 238 'rlupughrntuilnl 500 LIq +< qhrlurhurn 4.5 2000 I

33642210 'tlph4hfrqnlnh 5LIq q< rlhqruhuur 8.2 1800 t4.76

33671 1 1 3
U ur1pnruruiln11 00 il\q/ah rlur2ur $
200 4hr1ur;unlr

q< gnrlurgfp

2tr2unriurh
1100 170 t87

33691 200 Uhhnqfrqhhp 13.5dq +< 4hrlurhunn 13 4000 52

3361 1 21 0 Unrp$tuuurLtuqbh 50 0rlq +< 4hrpuhurur 61 1560 95.16

3362 1 1 10 'lurp$tupftr SUq +< 4hquhruur 33 2000 66
33621 1 1 0 '[up$upph 2.stlq +< 4hqtuhurr"n 1_5 1800 27

^^n^ 
a Fd JJOZ tOZV Uqfrpnhnltu\tnnh 25dq 'r<. rltrqtul'rurur 36 9560 344.16

33691 231 tun1h\tu1gfShpn11 5000 UU/1 t11.1 Oti +< up{utt 650 1000 650

33651 253 Surtiopuf$hh zOLtq +< rlhrpuhtutn 92 3000 276

33661 1 52 Shrnptuglrl1il.l-r t 0LIq/q, 3q +< qurp\nr-d 480 70 33.6

33661 1 54 SLrnprrr\ru3lrh l 0Jq/Ll1 +< uptlLutt 2400 t2 28.B

33671 '1 '19 'llupru gtrurr-udn1 1 25dq/51I1 1 00 LI1 +< uptirut1 360 30 | 0.8

33651 1 1 B 5h$up[upunh 10O0LIq +< undub 150 10 1.5

3365'1 134 Sfrqpn$ppuurg|-rh 3dq/1l1, un{LUtl +< uptlu\ 370 136 50.32

3367 1 1 16 €ulrlntthrnuqlrfirhfr h/p 0.5Lrq/1I1, 1 0d1 +< up{ur\ 370 40 t4.B

3361 1 1 00 Orihqpuqnl20LIq +< rlhqruqurtn
hd

13 7500 97.5

3362 1210
[--p \ tu p u1 ur pnrh ur \nr1
l'rtudur\gnrp1 nrtr 50 dq/5d1; 1 0 0LI1

+< 221'\ 2700 20 54

3362 1730 .{hpurqLuLilrl a0Llq q<
4hrlurhrurn 18 3000 54

33600000 Shpnulnp 50dq/LI1 +< uprltu\ 2I70 20 43.4

33600000 Sprurlr\tuqntr 2tr;. 50 d!q/qbrluSLrqh
(-\ /''f(- huru-r 7400 5 37

33621 590 $nrpnuhrilr4 a0dq +< 4hrlurhrutn 3 8400 25.2

33631 1 00
tllr\nhtuqnl 20dq/q, urgnLdfrLb qupl1nL6,

15,0
+< ulup\nrd 320 10 3.2

33651 1 50 $1nr-\nhurqnl 50Llq q< 4hqruquur 100 24 2.4

33621 730 Sr,uilunrlnnqlrtr 0. a rlq +< 4hrlurhunn 178 5400 96t.2

3366'l 154 Shpp[trur$]rLr 4ntr4nr1 1 0ilq/q +< ulurpLlntd 3000 10 30

33661 1 20 Shppfrtru$frtr trppurpu. 1 0Llq/q q< qurp\nrd 2500 10 25

33691 250 I-unurlrnulpnlru] 50ti\q/il1, 2. Stip +< up4wll 4500 1"4 63



33631 1 B0
Upbuplr unrp,$u4f ruqhb hppr.upunrp,

1Oric/o
+< qurp\ntd 1500 10 t5

33671 1 30
-!hShLhh4ptutif ir hf 4pnppnpfr4
1Oilq/ilr, 1ilr

+< unlul 25 10 0.25

33691 236 €lnpnqlrptudflr[ hf 4pnppnpf rl +< urtiul 320 16 5.t2

33661 1 1 9 d hur tu tilrq n 1 ( r"[b ur tu ri ]rq n1 h ur ur p I n r ti ) +< uriul 36 10 0.36

33661 1 46 ttn$hhtr 
I b.trhn 2Oriq/rit q< urr.fur 50 20 I

33661 1 1 7 9 urun] urfunrnfr huhnr\ +< un!utr 100 40 4

33691 201 9uun.l urlunrnf nqhpnr-pil +< uprlrutl L80 30 5.4

24411500 ULnr-2u4pf uq[pur 10% +< un!tuh 110 50 5.5

33691,192 I-lrqn11url]rL + hulhtrh.bpht +< ruilul 770 30 23.1

33671.L29 Lfrtnpn$nr ptul 20ilc1 (]< qhqurhtup 20 50 I

^^^n 
a r^dJJOZ I COU

[-hurill'ru1ph t 
* lh.]p.p1 np pfrur q ]i4

2 Silcr+'12.Sile
(l< -f ^,,,L,,,,,.rlurIurrurrr 90 1500 135

33621 560
|turilfqpirt* Zh+n"ppppfruqlr4
5rlq+12.5ilq

+< 4hrltuhtuur L20 3000 360

33621 560
t-lunf frulpht + Zhlpnp Lnpfdbu qhrl
1Oilo+12.Srlq

+< rlhrpuhutn 110 4500 495

33621764
.|l hp]rhlnu1pf 1+ htr4ur ulutifrrl
2rIq+0.625ilq

+< qhqtuhruu 60 1500 90

33621764
TlLplrtr4nq nlri+ htr4ur q urtllrr-1

4dq+1.25riq:
(-t /.'f(- 4trltuhrutn 62 3000 tB6

33621764
'll h p|-rtr4 nu1 pf 1 

+ htrrFu ui ru d hr}
Brio+2.5rlo

+< 4hrpuhrurn 1,02 3000 306

33621764
tlhpNr4nqphL+ hh+uq rurifr4
1Otio+2.Stiq

+< 4hrp"uhruu 190 3000 570

33621762 Utiln4lrulflr + T-ncltuptn tuLr Stfq+ $Q1O +< 4hrpuhunn 200 3000 600

3362 1762 Uil1n4fu1ftrt- I-nqu-rptnruh Srlq+ 1 0Otlq +< qLquhr-r-rur 2r0 3000 6s0

33621762 lftilnqirq$r+ t-nqupurtuh l Oilq+ $Q{q +< rltrrluhtutn 190 1500 285

3362 1762
UriL"lhqfh+ l-nquirnruh
10rlq+100ilq

+< 4hrpuhuru 200 3000 600

33621 460 'tl hpf hrlnqFlrL + UtlLn+ltotht, Sr[q+ $110 +< 4hrpuhuttn 1,62 3000 486

33621 460
n) bpfrh4nqphL + urit nlf u1 lrtr
5tlq+1gtiq

+< qtrrluhtuur 160 3000 480

33621 460
'rl hpfrh4nul FhL + uilLn4f ullrL
1Otfo+5dq

Y( rlhquhiutn t70 3000 510

33621 460 'tl h plrtr4nul plr L 
+ Utl Ln+h q hlt

10rlo+1Oilo
+< 4hrlurhurtn 185 4980 921.3

33621764
tl hpf hrlnqpbl+ hhryu qrurih4
+Urilnrlfrullrtr 4tlq+ 1 . 25ilq+5{q

Y< rlhrltuhunn 1.45 4000 580

3362 1764
'tl hpfrtrlnq pp1 + htr4r"rrul ur-llr4
+ tlr-f r nnhur hlr Btiq+2. 5riq+ $10

+< qt quhr-um 166 4500 747

3362 1764
I Lpf tr q nul F hL+ htrrlr-u q rutif rl

+Ur-fr nnhur hh Btlq+2.Silq+ 1 Oriq

(-\ /'Y< qhrl.uhr-uur 1.62 5100 826.2

3362 1720 trf unqpnllll + Uriln4[Lqirtr Sr"iq+ $10 Y< 4hrpuhurn 1_39 3000 417

33621720 Flrunqpnlnl + UilLnlhql.l, Stiq+'l grlq +< 4hrltuhtuu 150 3000 450



33621720 Ffrunqpnlnl + Udlntf l."lhlt 1 Qriq+ Sttq +< 4hrlurhuu 180 2580 464.4

3362 1720
FfrunqpnlnL + Urllnlhqhtt
1Otfq+'1Oilq

+< rlhrpuhtuur 200 2880 576

33621 550 llurifrqphl+Uriln4|n1ftr 2 Stiq+ 5{q +<
r-phq tuq unn t70 1500 255

33621 550 f[urf]rqphl+ Uii Lnll'tol l'ttt 5ri q + $1 O 'f< nhnumluru L20 3000 360

33621 550 flturflrqpl'L+ Uill"4hqhtt Silq+ 1 griq q<
nhnruulutn

135 3000 405

33621 550 Itruil}ru1 phL+ UtlLnrlhq htt 1 Qrtq+ 51q +<
nhRruulurut

130 3000 390

33621 550 t-Iurtif ulpll+ Utilnqhq ftL 1 Qtiq+ 1 Oilci +< qhqr.uulruur
1,67 1500 250.5

3362 1720
FfrunqpnlnL +rl hPlrtuln u1plr1

Srio+5tiq
'f< '^1 ^,,,1-,,,,,.IIL{lILurlLLtLrt 1,25 3600 450

33621720
trfrunqpnlnl +thphtt+"ott hL
5r1q+10LIc

+< 4hqurhur.n 150 3600 540

33621720
Ff unulpnlnl +thpbtr4nqPf i
10rlo+Stlq

+< rlhqurhurm 200 2100 420

33621720
trfrunqpnlnl + rri hFbltti"oi pl-tL

10Liq+10ttq
+< 4hqruhruu 2t0 2100 441

33691 203
I-nqtupr.ntuh+ ih+pnplnppf urqf rl

100Liq+2SLIq
+< 4hrlurhuru 100 4200 420

33691 203
Lnqur prnr.utri ZF+Pnp LnP Pbur qh4

50tio+ 12.^Jq
+< rlbrpuhurui 51 3000 t5J

33600000 'Ihrrnhtuqbrl 60riq +< 4hrpuhrutn 45 1800 BI

33600000 'Ihturhtuqhti 90ilq q< 4hrpuhuur 52 2400 t24.8

33600000 'Ihturhtuqhtf 180ttq +< 4hrpuhtuur 73 1200 87.6

33600000 Sburhphqfrh lOdq +< rlhqurhurur 70 1800 126

33600000
ShLnlrplrq]'rtr p'nbnr Ip hhpp[h
ntrnnrtril tutr 5ticr/ilr

() /''r< Lrprlutl 4000 30 120

33600000 'T)r.uhtnnq pLuq n I 20 riq +< rlhqurhturn 60 6000 360

33600000 '[urhurnqptuqnl 40rlq +< nhlurhurur 70 1.200 B4

33671.L25 Utlnnopunr 30ri +< nhnurhturn t2 360

60

4.32

292 t7.52
33600000 Untrurhlnr\uuur 5dq +< 4hquhrurn

33600000 Unhurhl nrliuuur'1 Otiq +< 4hquhLutn 292 460 l34.32

3367 1 1 12

hqptuupnulInrd
PPntlfr q + b hl-rnur h Pn1
2 0tf\q/ahrlur2ur{r+ $Ori\q/r}bqut)tu qr

+< htur-n 6500 4 26

33691 1 89 trhrnurh[uu$r 24dq +< 4hqurhtutn 70 2000 140

3367 1124 Snpprutlf glrh 3tlq/rl1 ru\btu\urphlt hp +< uprLu\ 1300 24 31.2

3367 1124
Sf qpnQ 1op uur glrLr+ 4hpur-rr tihptu qnil

3ilq/il+1rIq/rit
q< upLltu\ 1800 24 43.2

33661 1 56
fdfrilnln1+ {rp}rbqn1 urilf 11 6. Br-iq+ 1 Otiq

tuLrtruhup[1[rhP
+< LrptlurLl 6000 1.2 72

33661 1 56
trpprf ntrlrafL+ Olplnpl 2tiq+6' ${q
ruLhtutr tupirrLLn

cl< uptltu\ 3400 24 81.6

33600000 I-trhurhpru g hurunl 1 000riq +< 4hqtuhuur 310 1200 372

33600000 I-hhulrpur g hrnrud 50!!9 +< 4hquhuu 310 1200 372

33621761 hq nunppfr4 tinhntrfrurp u ur 40riq +< nhluhrutn 60 2000 120



33621767 hq nunpph+ ilnhnhfrurpr.u n 60ilq +< 4hqurhtuur 80 r200 96
26219.28

rlbqurybryfitt nnw
33621740 Ut[rnnhuhtr n/h 5ilq +< 4hqurhruur 9.6 660 6.336

3362L740 Urfrnnhuhh n/h 10r[q +< nhnruhurur 29 3300 95.7

3362r420 Uurnptl uruurunnfrh 2 0riq +< nhltuhtuur 21, 3000 63

33621390 Urifrn4urpntr 4/h 200dq f) /'-t (- rlh4ruhuru 50 r200 60

3366Lt2r Ughurfrluul frgfrluppnr. 4/h'1 00ilq +< 4h4ruhtuu 25 4500 fi2.5

3362171.0 Uurbtrnlnl 4/h 50riq +< nhn uhurur 4.5 150 0.675

3362171,0 [[urLLnpl q/h 100riq +< nhnuhuur 6.2 50 0.31

33671,1,T4 tlrtf rtrn$[1]rlr rrrrIu1. 2.4o/o 5r[ c+< tu ilq nr-l ru 40 100 4

33621761

Ii g hurf lu-t ltgl.t urppnL,
durqtrhqfrnulfr h[4pop uhr]

75[+/ 5.2[cI

(+< rlhrlurhurur 20
2880

57.6

33621720 Irfunqpnpl4/h Sttq +< 4hqurhurur 25 3600 90

3362t720 trfrunqpnlnl '1Oilq +< 4h4urhurur 32 3000 96

33621380 'Ifrqopulrtr a/h 250ri\q +< 4hqruhurur 6 L200 7.2

3363 13 10 'Ifr\1n$hhuth p/ul 4/h 50tlq +< nhnuhurr-n fl 360 6.12

3363 13 10 'Ift11n$birLu\ qrrLqnq 5% 50q +< ut unh nr.d 1500 60 90

3363 13 10 'Ifr\lnShhu\ utlq . 25[q /t\ 3[1 +< uriltunr-lui
80

50
4

33691,212
'I[nutffrh hhuqhp]rafb a 50rIq+50rIq
n/h

+<
nhRurhunn

110 600
66

33661136 'Ihurqhquri 5riq +< nhnruhutn 13 500 6.5

33661136 ']hurqhruurtf 1Oriq q< nhnurhurur 11 500 5.5

3361,1,L70 'Ipnutur-[t phlt 4Oilq +< nhqurhr-ur.n 9 250 2.25

33661153
'lhpuuilhpr-uqnL 4ilq/ii1, 1ri1 lnr br.rr 1p

hhnurnLtiutr
('l /-'t <- urdqnrpn 78 15

l.t7

33621,520 htrulurutphi 4/h 20tiq +< 4Lqr-uhr-uur 34 2400 Bt.6

3362L760 hhtultuqnht 5rlq q< nhnuhr.uur 5.5 150 0.825

33621,520 hlrrul urrq phtl 0 [q +< nhRruhruur 6.5 1200 7.8

33621,520
hhurpuqphL, hh+ptpppnpf ruqfr4
'1griq+2Sr-ic +<

nhnurhruur
20 2400

4B

33661156
Oirilnpnl ur\htu \ urphLtth p 0, 5%5r[1 +< unrlrutt 440

30
13.2

3363 1290 hpnu4pn$htr aOOtlq +< qh4urhrurn 24 240 576

33691260 I-rutlnurp[2frh a/h 2 0 Oriq +< 4hrpuhtuui 390 400 t56

33691203 I-nqtuptntul, p/q r1/h 25riq +< +hRuhruur 45 140 6.3

33691203 InqtupurtuLr p/u1 4/h 50dq +< nhnurhtutn 55 1400 77

33691203 Lnqupnutr p/u1 q/h 100Liq +< nhnruhruur 77 4200 323.4

33642230 Lirnp[popu]rtr 4/h 1 00rl\q +< 4hqurhruur 15 200 J

33661137 Lnpruqhquri l Lfq +< 4hrluhr.uur 15 730 | 0.95

33661137 I.nptuqhtqurt[ 2rlq 'f< n h I urhrur.n 17 100

33691250 I-turnuhlrlrq plruur 50rl\q/ti1, 2. Sili +< hruur 5000 20 t00

336611_33
Lhn4nqr-u \*pph.t"qtu 2 50riq+2 Sriq +< rlhqruhruu 100 2000

200

33621690 grupLlh4frlnl 12.5 rlq +< nhnuhruur 30 1600 4B

33621690 9uptlh4lr1n125 riq +< nhnruhr.uur 40 3000 t20



33621690 trrunrlhnblnl 6.25fq +< 4hqruhurur 23 200 4.6

3362 15 10 tlr,u qrnnqlhL q/h 25Lfq +< nhnurhrutn 4.2 100 0.42

33 62 15 10 guruturnrltrt]rtt 50[q +< nhnurhuur 12 1600 19.2

33600000 9lnhruqhu.lurti 2ilq +< nhnurhrur.n 38 1.r70 44.46

3369L23 1

9urp[nrd ]rrn1t\upghbb p"L btutihpr
n/h 500tlq/40OLIU

+< 4hquhuu 45 1500 67.5

3363 1300 Qhurntqpn$hh r1/u1 50rlq +< nhluhuru 57 600 34.2

33621.1.40 \1 nqfr4nqphl 4/h 0,075q +< 4h4ruhuur 103 600 61.8

33621580 Zfr4pnpppphurqh+ 4/h 25dq +< nhnruhruur 13 400 5.2

33661139 Zurtnulhnhnr-rt 5r.[q +< nhnuhruur 1.4 730 10.22

33621700 lfLurnulturln] a/h 2Silq cl< 4hqruhurur 20 460 9.2

33 63 1 100 Ulrllnhurqnl lrp1-.tupunrp 2% 15q +< uluip!nrd 340 10 3.4

33642220 UhBhr q n h ntr hq n p\t 4 tlq cl< nhtruhtuur 73 2400 175.2

33621700 Uhrnnulpnlnl 50il9 +< nLlr-uhuur 25 100 2.5

2461.L1.50 Lhurnnqr hshnhL 4/h 0,5tiq +< nhnruhruur 8 100 0.8

33621750 Lh$hd'qirtr a/h p/q 1 Otiq +< 4hq uhtuur 14 150 2.1

33611150 'rl urlL\|hLuu frtr- 1 50 Jq ri/q +< qhnurulrurn 110 2400 264

3364221,0 tlnhnLhqnlnh n/h 5t[q +< nhnurhurur 8 s00 4

33691186 rllrpuclhururti 4/q 40Oilq +< 4hqruqrutn t2 400 4.8

33691186 tllrpurgLururi 800ttq +< 4hqurhtuur 54 600 32.4

33671,1,13

U upnr-urqnfn L gnlur ghp

100dhq/+nqu 200 4nq
a't /'f< uprlru\ 1100

50
55

33621.620 Uu1|-rpnhnptu\urnb 2 Stiq 4/h +< 4hrluhurur 39 4000 156

3362L620 Uqfpntrnlur\urnh 50 tiq +< 4hqruhuur 7L 150 | 0.65

33621,41,0 Uhd4wuLtiwtthtt 20[q +< nhnr.uhurur 130 360 46.8

33621.1J0 'lturr$unl-tu 2.Sdq
('l //'r\ ntlurhr.ur-n 17 50 0.85

33621110 .ltup$urplrL 4/h Stiq
(-l /'''.< 4h4urhurtn 35 150 5.25

33621730 .lhpurqunlfl a/h 40Liq q< qhrlurhurur 18 200 3.6

33691.226 Sptutftu4nl 4/ul 50ilq +< qhrlurquur 40 4000 t60

33691.226
Spuilru4n1 1nr-bnr1p hbpup\tfuh
100Lfo -2 0.

+< urr.fqnllur 190 L250
237.5

33691209 Sr.udunr-1nqhh 0 4dq +< 4hrlluulurtn 188 1800 338.4

33651134

Shqn"Sppuugfli
urhhurL ruraht hhp 0,3% 5t[1

+< uprlru\ 392
10

3.92

33611100 Odbqptuqnl 20 tiq +< nhn urtu ur.n T4 1500 2l

33621590 $nr-pnul,ttia 40dq +< lhluhruu 4 s60 2.24

66^At r^dJJOZ I COU
fbru rI frq lrphL+ Zh+pnp ppp frur qfr4
2.5ilo+12.5ilo

q< 4hrltuhunn 90 50
4.5

33621 560
lhurlfrqlrphL+ Zltlpnpppplru qlrq

Stio+ 1 2.5tiq
+< 4hrlurhtutn 120 1500

tB0

33621 560
lbutlfrulf pht +il.npnp1 npplrtuqf 4
'10rie+12.5ilq +< 4trrlurhurtn 130 1500

195

33621764
'll Llr]rl r Il ritrl lrli 1 

+ I'ttt )rtr it1 ttr r [] r 11

2riq+0 62Stlcr
q< ,.1 ,. ,,,1.,,, , ,.rlLrrIrLrrrLlrLrr 80 300

24

3362 1764
'tl hplrhq n u1 plrp+ hh+ru u1 uni j-rr1

4tio+ 1 .25{o
+< 4hrluhurtn 90 1800

162

33621764
tlhplrtr4nqFhL + hLrltu ulurtifr4
Btlq+2.Stiq

+< 4hrltuhuur t20 1800
216



33621764 'tl hplrtr4nqpfrl+ hh4tu qrurihrt
10rIo+2.5tlo

+< rlhqtuhrurn 190 2100 399

3362 1762 Uri1n4]rqlrtr+ I.nqtuptnurh SLiq+ $Qr1O +< 4hrpuhunn 200 900
tB0

3362 1762 Uilp4frqfrtr+ I-nqurprnurh Srfq+ 1 0Orlq +< 4hrlurhunn 2t0 1500 3t5

3362 1762 Urfprlfrqlrh+ Lnqupmu.rh 1 Orfq+$Q{q +< rlhqr-uhunn 190 100 t9

3362 1762
Utlln4lrul lrh + tnqur pur ur Lr

1Otia+100rIo
+< 4hqtuhunn 200 1800 360

33621 460 tlhpf Lr4nqFlrL + UtlLn4lrqftr Silq+ ${q Y< qhrpuhturn 150 1500
225

3362 1 460.
ti hpfrb4nq Pfrl + UriLn4hul ht
Sriq+1Oilq

(1 /'7\ qhqurhrur.n 160 1200
t92

33621 460
r) hpftr4nq phl + UilLn+hul hL
10tio+Silo

+< 4hrltuhrutn 170
2 100

?q7

33621 460
tl t plrtrrlnqFlrL + UilLnll.oihtt
l Oriq+1Oilq

+< 4hrltuhruur 180 1200 2t6

3362 1764
tl hplrLrqnqFhL+ htrl,-u ulurdlrrl
+Udr nnhuhL 4ilo+1 .25rlo+Silc

q< rlhrltuhrur.n 150 1500
225

3362 1764
tl hplrh4nq FhL+ hhqtu qrutihrl
+ Urfi nnhru htr Btio+2. 5tla+ Sr.iq

+< 4hrpuhurtn 155 3200 496

33621764
tl hpfrh4nq pf 1+ htr4tuq rutlhrt
+Urfi nrrhruhh Bila+2.5da+1 Orio

q< qhrltuhu-rur 155 4200 651

33621720 Ff unr-qpnlnl +Utilnlhqlrtt Stfq+ $1 n +< rlhrluhunn 130 1200
156

33621720 trf unqpnLnL + lhilntlhqhlt Srfq+'l grlq +< 4hrpuhurur 150 1800
270

33621720 Flrunulpnlnl +Uillntfh"lht 1 Ottq+$1iq +< rlhrpuhruur 185 1500 277.5

33621720
Ffru nulpnLnL + UilLn4lrq f tr

1Otfa+1Oilq
+< 4hrltuhruur 200 900

tB0

33621 550 fbrurffrqphl+Urfln4l."lht 2 5rlq+ ${q (-\ /''f(.
nhnruuturtn

110 50
5.5

33621 550 ftturIhtq nht +Utit nnhtl htr Srlq+$rIt +< 4hqurqrutn 1.20 1500 180

33621 550 fFuLi[qphl + Utiln4lt"lhl, Stiq+ 1 grlq +< nEnluutuu L40 100
t4

33621 550 fhuLilrqphl+ Urll ttlhqht, 1 Otfq+ $11q +<
4hrlurquur

130 1500
195

33621 550 llunlf ulpl.L+Urlltttlhqhtt 1 Qtfq+1 Q{q +<
4hrlruuliurn

170 1200
204

3362 1720
trf unqpnlnl + ql hpblr+"qphtt
5riq+5iiq

+< 4hrlurhunn 12t 1800
217.8

33621720
trlrunqpnlnl + Q hlhlrl"r.t pht
Silq+1 Oilq

+< 4hrluhuru 150
21,00

3t5

33621720
FlrunqpnLnt + rrlbPlrhrlnulp]r1

1Otia+Silq
+< qhrpuhurur 1_50 1500

225

33621720
Irf unulpnl Itl +rl LlrfL rlpu1 1rlr1

1Oriq+10riq
+< qt,qr-u1'rr.uur 155 100

15.5

33691 203
Lnqu ptnr-utr + Zhllnp Lnpphul qh q

1 0Oilo+2silo
+< rlhqurhtuur 100 2r00 210

33691 203
Lnqur ptn tuh + ZhIpnpLnpphru qhl
50tio+'12.5il4

+< rlhqurhrurn 55 1800
99

33600000 'Ihturhurqhrl 90riq +< 4hqruulutn 62 900 55.8



33600000 Shuhnhqlrh lOtiq q< 4hqurhutn 80 50 4

33600000 Tlurhnnrqptuqnl 2Oriq +< nhnuhuru 80 600 4B

33600000 'Ilutrr.nnul nru q n I 40dq +< nhnuhunn 136 240 32.64
3367It25 Utinnopunr 30d q< nhnurhrutn 19 230 4.37
33600000 LlnhrnL1nr !ruurn Sr[q +< qhquhurn 100 300 30
33600000 Unhurhlnr lruuu 1Otlq +< rlLq url'rurtn 170 480 Bt.6

3367 1 1 12

I.qptuurpnulfr.nr-ti

PPntlfrq+5h[rnurhPnl
2 Oiltr c/nt n tu lur}r+ 5Orltr o/nhn r.u ruth

+< hruu 6500
20

t30

33691 1 89 Fhtntuhlrurnhh 24rlq +< 4hqruhunn 100 2000 200

3367 1124 Snppu rif gfrtr 3rtq/ti1 ur Llhur \ruphLt,hl +< r-rptlur\ 1300
10

t3

^^^-^a^AJJOt I tZ+
$h 

"l 
p".1, Lo p u u g l-itr 

+ 
4 L p u tu il h p r-rr q n r-i

3rIo/ti+ 1 t[o/t[r
+< up{ru\ 1900

10
t9

33661 1 56
Of tft'r1n1+trpftrqnpuillrrl 6.BrIq+ 1 gLtq

iutrtrutrtunhrhhn
+< untlutl 6s00 10

65

33661 1 56
trpfnlnhfrafrh+ faf linpnl 2rfq+ $ . ${q
u-rLhurLturahrhhn

+< up{urit 3200
10

32

33661136
'Iluuqhqr-urf lnrbnr3 p
hhnurpb ilrutr sriq/ril, 2ril

q< uilqnr-pu 110
100

fi

3362t420 tluinprl ru uurru urfrh aOilq n/h (l< qt rltuhuln 170 120 20.4
3362L767 hqnunpphn ilnhnlrhtn nruu 20Lfq +< 4hqurhruui 55 3000 165

3362L767 hq nunlrphn tfnhnL htn nur m 40riq q< 4h4urhurui 66 100 6.6
33621767 hq nunnphn rlnLntr[urptutn 60t[q cl< nhnruhunn 90 100 9

33611120 $rur.inrnhnhtr 40dq +< nhnruhrutn 38 50 1.9

33 141136 HLuplrnp $nrh G22 +< hr-uur 220 24 5.28
33100000 QR ruhpnh+nr-hh> +< hr.uur 1000 90 90
3367 L 13 1 Lnnurr"ntu+htr 1Otiq +< rlb4tuhuur 25 50 t.25

33631,1,20 ShnphhruShh hnprupu. +< qrunhnrd 2300 10 23
33631_180 Unburah ulnt $unhruq htr +< urunhnrd r200 5 6

33621,640 lhtpn\npurlrqnL 5 ilq/q; 3q +< ruuinhnr-d 800 5 4

33661152 Shnpurgf t1fl'rtt t O LIq/q, 3q +< tuurnhnr-d 600 5 3

33691,226
Spunlu4nl gnrbnrjp trhpurp\riutr
100ilo'-2.0.

<UU unlunr-lur 190
s00

95

Ctrrlurilbhp fi 808.246

Pfi[fiwU*tt \nryhp
33200000 LhpLuhrnrB qJrilqur 1 000il +< thurn 10000 30

33200000 Uhfifh 50 ri +< Li 800 '100 BO

33200000 Uhqlr phutn tlhnhupnhb q< phutn 54.6 6200 338.52

33200000 UhrturLrL 10t +< tnnr-rlr 18000 45 Bt0

33200000 Utnpnr|.urnn1 u1 q hp /3x5 00il1 / +< dr 70 7500 525

33200000
Ztutlruprubnr- \qr-utrph .ihZ purpLr{tub
rlrnlnr lrn hrrrrr nlrrrrnhn l;r nr hrrrr [rrrn

+< htuu 400 25 t0

33200000 'Lu r.npf nullr g fnnpru rn +< qt 2 1 000 2

33200000 Qthqhnhh +< rhup 1200 /l
I t.2

33200000 Qhpytu!fr lnrq +< thurn 3000 4
I ?

33200000 Urlruppnr +< thurn 2500 J 7.5

33200000 UqnnuLltul-r ppnr (l< thurn 3000 1 3

33200000 Unrl $nuurt hght urTapnL +< qF 10 1 000 t0



33200000 Lrrulf nrtifr hlrq|optrlrrl KOH +< qp 10 150 1.5

33200000 Llnr-qnfr t-td ( 10 3n+h fP) +< ti1 20 100 2

33200000 €u gruluurppnr uu-rn gtul $r g< tlr-p 80 1 0.08

33200000 llt plrlhtr \uu1nL1ur +< clp 80 400 32

33200000 Lhp\tuLr1 nrp Ur-ulh qplnrh{tuU1 g< lfrtnlr 9000 J 27

33200000 .[tu\ nrr-[ru1 [rh rf np&urhnp K2 E DTA +< hurn 27 9500 256.5

33200000 .[uh nrtiurj f tr t]rnpdtulrnp qhfntl +< hruu 36 2000 72

33200000

.{ru\nr-tftulfrh r,lrnp&urhnp N a

churnurtnn!
+< hurr.n 32 500 t6

33200000
3-nhr"u\urh.l "qh-tu\nr-c 

/C R P/

100rahuur
Y( phurn 60 2000 120

33200000 fFtr{ruur nlrrl .}tuLlunp 1 00pLuu q< ptuu 54 800 43.2

33200000 Opnilpnullu: uu'ifrLr 24 0 phuin q< phuin 50 7200 360

33200000 gphurnirtrlrh l 0x50tl1 q< phutn 30 3000 90

33200000 bnql frghpfr4hhp /1 0x50rI/ +< phutn r20 1 000 120

33200000

AS LO-urtnnlruurphqPn$qhtt - O

4Onhuur
+< phutn 180 '160 28.B

33200000

U\tnfrt[u gr{u b tfr-rr uLrLu \ir
ppnilpnqpulrurplrLrur j f l,r duri /5 x4rl1

200rahuu/

cl< phuu'r 150 400 60

33200000 |apnrfpfrh 10x.1 ti1 1001!tr!'/ (]< phutn 212 100 21.2

33200000 tunlLuplpnl 10x50d1 +< phuu 53 8500 450.5

33200000 tun1 huphpnp-H DL 4x20rl1 +< phuur 645 640 412.8

33200000

Zldtrtul frtr $nuStrruluqrl AM P

5x2Orir
+< phurn r17 200 23.4

33200000

Lt r,ulglrnrti| npn2 rltuh
htuiltuptubnr

+< phr,rtn 39 1 000 39

33200000 Fhrhnnrrlrtr D 5x50ttt +< phutn 44 3000 132

33200000 Fhrhnnr-phtr T 5x50rl1 +< phuu 44 3000 t32

33200000 UI-S 5x50ri1 q< phuu 88 3250 286

33200000 UUS 5x50ilt +< phuur 88 3250 286

33200000
Uirurnhiltul lrtr prbnrl p C o nce ntrate

liq Svs1000ml
q< tlt 1_8 '1000 IB

33200000
I-tltugnq prbnrlp Conc Wash Sol

100 ml
+< ti1 t78 200 35.6

33200000

Luurp|-rnr-tf npn2hp t Phutn
htur,lurpurbnr- N50

+< phuur 528 150 79.2

33200000

\tufrnntir npn2hlnl Pl,uu
hur]ruptubnt

+< pbutn 258 200 51.6

33200000 gnhurnnt ulrdnt! l- 5ri1 +< r [r
-'I r440 25 36

33200000 Qnhr.nnnt uhdnr h ll-5il1 +< r [r 1440 25 36

33200000 Q11nr-\nqtu '10x5OrI1 +< lo tr u u I 29 7000 203

33200000 Uruqtrhq frnrr-i 5 x2 0il1 +< pburn 72 100 7.2

33200000 bp\*p Shpp"qlt 5x50riL +< phuur 96 500 4B

33200000 ZhilnqppfrL A1 C qi,]r\ntrbqtug{ub +< phutn 4000 90 360

33200000
9u firppur urnp pf npf tif Lu \ruh
hhtntuq nrn. hur durn Sdt

+< rI1 1600 20 32

33200000 Shppirtn[tr 1x45d1 q< r Ir 1300 45 58.5

33200000 $|rpplrtrnqhtr +< phur.n 150 3840 576



33200000 q*.thtulqru +< phutn 570 200 n4

33200000
trfrnpfnifrur ! ru h u tr ur flr qur ur np fr
!1ntr-lhur A-15 N1000 +< hutn 36 2000 72

33200000
ttlnr{LuitrLp HTI TS 4000
L nu gnrl nrlt,urph hurtiu 1r

+< hurur 92 1400 I2B.B

33200000 trnpnufrfirlutnb rfnp&tuLrnp Stat Fax Y< hutn 54 500 27
33200000 tlhquhlnrp 5x50 il1 +< phum 96 3000 2BB
33200000 Uhqtuppnr 10x50 +< phurn 54 500 27
33200000 ILr-rp +< hutn 3600 20 72
33200000 P Snu$np 5x50 +< phurn 29 250 7.25

332000d0 ,.

GGT Q1 urtftitu qpr nurtllrl
urntuh$npruqur5x50 +< phuur L20 250 30

33200000
LDH ltupurmul 4hhlr4pnqhhlu4tu
5x50

q< huur 75 250 18 75
33200000 TP Ch4htuirnrp uq]rrnuh.g 10x50 +< huru 24 1 000 24
33200000 Albumin UU:nrilfh 5x50 +< huru 15 500 7.5

33200000
Utuqlr[rntufrtr qtra]r\trt p HTI TS 4000
ll nuqnrl ndhr4p[ i-rurtlup +< huu 70 200 t4

33200000 Utrurf A r-\ /'f< LI 67 80 5.36
33200000 lhrnf B 'f< ti 67 BO 5.36
33200000 Utrtnf C +< Li1 260 25 65
33200000 Ulruf D +< tll 1,40 100 I1
3200000 Uhnfr AB +< dr 170 '15 2.55
3200000 bfrpurud q<

ri1 60 3500 2t0

3200000
-lh$htl."l. npn2tiutr p hurn
rtutlurprubnr RPR

q< phutn 110 2100 231

33200000
rlpnutnru rn uq h glr$h\ utrurf qttrf
nnnlLituL phuur htur] tupu br-n

+< phurn 21,0 288 60.48
33200000 Olrfrhnurpnq hnprlnh q< phuu 800 796 636.8

33200000

tu1uilfrafrtul ]r ptuhr"u \ur lurh
hurl tnhtuphptiub phuu htur{urpurbnr
lgG

+< phutn 1000 96 96

33200000 2h$!npuhurLp /\ur uuLurur/ Ab +< pl,uur 480 90 43.2
33200000 Zh*rhnpurhuhp /\tuuuhurtu/ Ag cl< phurn 1300 60 7B

33200000 Spfln4lrpnlr]rtr ptrrlhurhln p iT3 free/ c+< phun 37s v l.\ 36
33200000 O']rpnpuirtr uqurn lS4 freel cl< pLrutn 594 384 228.096
33200000 tunnhnlLu 

t hnLu r1nu4nq hL HCG +< nhutn 563 96 54.048

33200000
U1,$uS htnnq pnm hfrlr]r npn2rltuh
nhurn AFP

q< phuur 563 96 54.048
33200000 I-tnr-urhhtrhqurghnq hnptinlr LH +< phuu 320 96 30.72

33200000
Sn['r\nr1 u tn]rtinrlur ghnrl hnptlnh
FSH +< phutn 21,0 vh 20.t 6

33200000 tpnqhuuhpnh PRG +< ptiuu 21,0 96 20.t 6
33200000 huurpurrllrnp E2 +< phutn 650 96 624
33200000 SnpunulluqLIu lgM +< phurn 850 96 Bl.6
33200000 Snpunulpurqrhu I g M/l g G +< phurn 6s0 30 | 9.5

33200000
'Ihh[4pn tq]ruh qpnu ur hpnh
unrlguln DHEAS +< phutn 690 96 66.24



33200000

Zhquufun F urtrr-nltqblrlt npn2rirul-r

p hutn hur r-lttr pr.ttbttr /11 ur tr Lurtu/
+< phuur 240 1 200 2BB

33200000

I-1tuilpgr-ut t ph huh4hu1
hur\uliruprllrtrtrhpf npn2t[tuL
hur.luioubnr-

+< pbuur 550 192 105.6

33200000

L1 uripl utrhp[ hrutr4trq hu \tu bLfr

npn2riruh hurltup. trulutuurhu{u b

buuuhr.nuhhn

+< phurn 1500 40 60

33200000

Zur\ ur pfrph nqpr pnrflrhurl frL
hur\ruilurpLtftrlrt pf npn2ilurh phutn
hr-urlupurbnr, TGAB

+< phuu 813 192 | 56.096

33200000
8lurniltrqurlnt[f pnr-uf I g M npn2dtuh

nhuti hunltupubnr-
+< ^l-....-

ldtrttLll 782 96 75 072

33200000

Uu\ur pf 4lthph htutr4hq
Zur\ur{urprifrhhhpfr npn2rlutr phurn
hurlurprubnt

+< phutn 6s0 192 124.8

33200000

Zur \tu pf phnq h po p uf 4tu qfr

hu\ruriu prifrtrtrhpf npn2iltulr piru tn

hrutl upubnr< Anti-TPQ 

-

+< phutn 813 192 | 56.096

33200000
{lPnlupur}Ljr npnnLlurLi pLr-rrn

htudtupubur
('l /'
'f (- loLruul 563 192 | 08.096

33200000
U'hUq/thUZ-h npn2ilurlr Phutn
hurr.luptubnr i

Y<- pbuur 650 16n 97.5

33200000 Spnqnhlrtr I TroPonin I +< phun 800 20 t6

33200000
hh$h\gbnLr tinhntinr\1hnq (htr'{) lG

M/IG G EBV IG M/IG
+< phuur 1, 30 0.03

33200000
Ulrllnu-11urqilru I ST2/Mycoplasma I ST

2
+< phutn 8000 150 t200

33200000
Uf\nu11uqdur uirupt,il
urr rnru/MvcoPlasma system Plus

q< pt uur s800 40 232

33200000 hhunrlfh +< phuur 663 288 190.944

33200000 trrupfruntrlrl-r +< phutn 1700 192 326.4

33200000 Qnpufrqnl +< phuu 700 96 67.2

33200000 '[urpurnhnpilnh +< phuur 1735 192 333.12

33200000

Upluti tlhg D-Di mer ptut-nu\ur\u-rh

npn2tir:,rLr l-rutilur ;i htulur.uut u{ub
lahuur-hurd urpurbrlr

cl< pLuur 1300 192 249.6

33200000

Uplurtr ilbp tlfuurllLr VIT D

purhru\u\tutr npn2tlurh hruritup

hruluu urhu{urb phuur-htur-lupu bnr
+< phutn 1400 192 268.8

33200000

Uplurh tih2 {ruurilbb 812
pr,utrur \ur \urtr npn2tiuh hutltup
lrur]uu-r urLu ti rub phutn-htu r-lu p ru b r r L

+< phur-n 1700 96 | 63.2

33200000 Ulnr 11Lp llrLunLr urquP +< qp 70 500 35

33200000

Ur"uplnhhpuhhpp

|rahhurlrSh\*Slt*: fr huriruP
trulu r-u tn L u tl rub q ru uPtu utnf
ppnrinqhtr Lif2un{ru1p /SM2 ruqup/

+< hruu 1100 40 44

33200000
€pndnqhL tllr2utlurlp /Chrom ld CPS

Elite/
+< htuur 1700 120 204



33200000
| (\/'

Cn\nlurlurtht *q.tt I K hrur.n s00 120 60

33200000 cr'rt1i"1"ta ptugfnnPurgFLr tuqtuP I ?( huu 1L00 100 fi0

33200000 fdurlhpUupurlrh*d hurur L200 120 144

33200000 Ulrhbpiul 3nr-r1 .tphql*qil*ll. I % r [r 60 500 30

33200000
Urnlnrtupu upuhuqnPtnurlflr | +<
rihqurilutn N 100

htuur 250 1 000 250

33200000
Qhhpnpu utrurtpnP GENBOX

ANAER 10 sachets
+< hu-rn 3000 150 450

?3600000 Uqfppnilhgl.tt +< uptlrutt 1600 4 6.4

33600000 3h$urpfupunh +< uptlurLl 1600 4 6.4

33600000 Qhtrurtuilfgftr I q< up{ru\ 1600 2 3.2

i3600000 Llunpn$nr pr.u tr ur n|'rh +< up{ru\ 1600 4 6.4

33600000 Unpulr$lnpuLughLr +< uprlru\ 1600 4 6.4

??60no00 tlhupnh[4urqnl +< upLlutl 1600 2 3.2

33600000 rrn-urpjrtlurpunqnL +< uptlur\ 1600 4 6.4

?3600000 3h$opulrurftr +< upr,lurl1 1600 z 3.2

33600000 Snppruilhqhtr +< uprlurtl 1600
.l
t t.6

3i600000 glurpfrupntifglrtr +< uptlutt 1600 z 3.2

??600000 ftopulrtnpnriIg[rtr q< uptiur\ 1600 4
I 1.6

?3600000 'h-rpuhqhhthh 'f< uptlrn\ 1600 2 3.2

??Anoo00 htifhqhhhri: +< uprlurL1 1600 2 3.2

??AOOnO0 Snu$nLflrg$r +< uprltu\ 1600 z 3.2

33600000 Sfrqpn$gnputug[h +< unr]u\ 1600 2 3.2

??AOnnno Lri$ntnhpfght Ir +< upt]urtt 1600 2 3.2

?3600000 Ur.I.'qhshf hh unr lPur\rntut! +< uprlr-ut1 L600 4 6.4

33600000 Udnp ulr gf Ll.rt' \ i*q"!Lltb*Ep* q< uptlutl 1600 | 4 6.4

??Annnoo hqrlrurpnilhght,
cl< uptlur\ 1600 | 4 6.4

33600000 rlfqhntughr l. **q"P-q N +< updruh 1600 | 4 6.4

33200000 nlrq hrilrahir*: h! tuplt +< uptlurtt 1600 4 6.4

33200000 Lu1trr1|rpurulhh PPn! +< uprltutt 1600 4 6.4

33200000 $nu$nLIf gftr +< | "p,l*t1
1600 6.44

33200000 Lf rn pnS r-r r-p u tr tn nlrLr +< l"prl*lq I 1600 4 6.4

33200000 IbnLptu4nh[L +< un{u! | r0oO 4 6.4

33200000 Rl-9-1."'h'Iu ttt/ I I Lt I 
r tr

(l< uptlur\ | 1!99 2 3

33200000 frtuclrnpuglrh phurn 'f< ur Il LLll 13000
A
I IJ

33200000 Opulr4urq phuu +< ulrtlr,u [r | 16000 5 BO

33200000
Qptuti hhp\ruhPnrPhPf
htutlurpubnr,

+< nnr-$ 25000 2 50

33200000

CnP C -phru\tnfrtl uu1|rurur\nrgfr

pruhru\u L1-utr npn2tlurh hu{urptu bnr
' trurfrtuurLr-rtlr-ub A- 1 5'
plrnpf tlf tu L1 tuh rutrur 

1 f q u rnnlrf

hrurirun

+<

+<

pLur.n 350 200 70

uptlru\ 8100 1 B.l
33200000 Uurh4rupur CRP

33200000 RF +< phuut 510 100 JI

33200000 Uurr.utr4urptn RF 1x3 +< un!utl 8100 4
I B.l

33200000 UTI tuqtup +< qp 180 500 90

33200000 Utrurlrurnptrul uinflr qlttL 94S LO +< phun 600 50 30



33200000 Ur.nurb4tupur ASL-O +< up{ru\ 6000 4 6

33200000
Ppndnqhh tt]r2ur{tu1P Chrom ld

Candida
+< hurur 1600 BO t28

33200000
U\*it,l plnp urlr2unnnl 4lnrpurprt jb

hurrhn
'f< hurtn 9 1 480 | 3.32

33200000

Ufuur.uhurtrf y |uu urhl nr-P

huiur"u uh u tlr-u b P d2\ru \ rutt

tr2rutrur\nrpl urfr qnpbfrphhpfr'

th4nu\nqlthph' ruluuruhuhilurtr,
hurlututituhptu qhpbnrilrul fLr tr

khqhr-fuurhtr @

+< tnnr-{r 1700 30 5l

33200000

Uluutuhurtrf2 tif 2ng, funurhlnrp
huluuurhu{ub tlur \hPhul',hPh
utuuru-r hutrtiulr h r-iuppr-fu-rlr hu L[tu p :

+< r l.r ataLl'"'r' 71.00 10

33200000
Utipur\|r2 $ g nr pn dtu qrur-lhhhhpft
}.,,rr[tttnlruu ql

+< t]'*p 7500 B 60

33200000
bpinu\f 2 $; nr-;rn dtuqtu{ hhtrhpf
hurdutr

+< hruur 7500 B 60

33200000
thipu\|r2 nhhrn qhh dur u1 r-r-l-[htrL h pf
htutfup

+<

+<

htuur 12000 12 144

huitn 12000 12 t44

33200000
bptru\|r1 n hhurqhh dr-u u1 tr-r t{ Ltrtr hpf
hutirurr

33200000

Zur\rupur\uihplrtu t hhqnr\ L{ru gnq

.ihZ"g' &hnpbpp urluurr-uhtuhhpr-

1'rtudrun

+< hr.urn 2600 6 l5.6

3200000 Utnphtr.lu-rnuhutn +< tnnrft 24000 o 144

33200000
Ohuqhbul EA - 50 /Reagent'PAP 38/ +< t]'-p 12600 B 100,8

33200000
fbtrurqhhtn OG - 6 /Reagent,PAP 2Al +< ti-rup 12600 x 100.8

33200000
2.hriunnnp"ltilttt / H e m atoxyl i I n

HP,PAP 1Ai
+< tlr-p 12600 | B t00.8

33200000 €ulrlhtr +< thrllp 10000 12 120

33200000
Ffrnr-irunrtrp D OX/LOW /tln1|ulnhpnl
oAn, [,

q< I f,-p 68000lolqoa
cl< | htuur 40 2000 | B0

33200000 Spuhr.rq nptnurl irtr ilf 2r-u tltul P

33200000
Uqnqirpturi

cl< nurtlurputbn 2500 10 25

33200000 O,.,,,Xlr1r.,,,Lnnnt rh rt330% +< lrh.p 500 30 t5

+< phun 1200 25 30
33200000

U4hirn/ftntnur{}rPnru Adenol

Rotavirus
3400 30 | toz

33200000 o^.hrrr A+R lnflrrenza A+B +< | Phutn
l'l - *l

+< tnnulr 85000 4 340

33200000

O r-phu-Upqhtt|t1l Lfrn 2

r.upqtutrr.r.r\/U rea-a rg i n i ne LYO-2

tJt \Jr,

UU r"nnr-{r 5485 15 82.275
331 00000 T Tl'.'.rrrhrrtl'th r. hrrt nhn

UU urnr-{r 2300 10 23
331 00000 thnphp[ ur]uururtuhtuhr"[uir hhrlnr-t1

+< \q 5000 4 20
331 00000 Uluuuhrutrlt: h.ql$ q*il +"2b-

331 00000 thnp hplr ulutur.nurhtutrilurtr hhrlnr-\ q< *t*p 2500 30 75

t7255.496
cL'Illl-rb\,c



ru Q tuh b2uttt u Q ntpl ub u tutt h

33 141118

Uh&hnnglr\ p*l-rqh$frg rluLpLruqhpb
pdZ 16 x'l4 N10 +<

Lnnrr-fr
90 100 I

33 140000

Upltutr rihp qlnrllnqfr titu\rup4rullh
npn2ilurh phutn-hpfrqtrhp +< urnr{r 4400 150 660

33r41,1,1,1, Ourtrqf$ 5ri q< htuur 390 200 7B

33 141100

aphh\ n1n9h.ru\tuL htul hg,ihghtt,
trnru\n +< htuur 89 600 53.4

33 141160 L-lulr Ll Lr L r L +< hurur 5000 7 35
33 141160 hfun qhp 250 ti1. +< hurtn 254 50 12.7

I

3 165 1200
hQQ ciuultutlhtr EKG PAPER \uril
l.hudru pdLp 63riLfx30rlx I 7

+<
hurur

326 200 65.2

33191,620

farlph nnr-1nh 50urix50d
hpll2hptnuirf /pnr-qp h qnfrkpflhh/

+<
hr.uur

1800 70 126

33 141159

lhnhng ltuurhpu, n2 uurhplrl

2ur{ruhpp-M, L
+< hur.n 50 72000 3600

33 100000

dh2tlutr )u+h; ruqurprur.n
Utnhunu\nq, tituhdhp, ururh&h\,o+p
pnqhhpr rlru\ruh, uluJnluur\ r*nph
htutftun. i

+<

hruu

7000 20 t40

33L41,1,42 Lhprup\|r: 5.il +< hunn 1.2 5000 60
331.41.1.42 LLprup\lr2 101i1 +< huur 18 5000 90
331,6L220 Culururhl N100 q< htuu 4 1 4500 5B

3841 1200 thpdru2ur+ ubqh\ru1hh +< htuur 280 60 16.8

32351230

lltrhrnqhh dr-u ulutltrL MX B
'1Br-rilx24uil

q<
hultn 500 625

323s 1230

lbhlitnqhh durqtu{hh MXB

30urix40uti +< hurur
340 700 238

32351,230

lFhtnnqhh duulur{hL MXB

24utix30uri +< htuu 220 700 154

33r41.1.1.r Uu1hr1uhlr 5x500 /\urnp]rg/ q< htuur 226 40 9.04

33 141100

Sf urnppru 2 ri[urhqr"uril u
oquruqnpbtiurh, utnhplrl

cl<
hurtn 34 1 000 J4

3 1651200
$;nrpn durqun{hh RP2 70ililx30.5ri +<

huur
55000 B 440

33 100000 Lrulrghu pd2\tu!utr +< htur"n 32 300 9.6
33 100000 trSQ dtuqu{htr +< huru 3960 20 79.2

331 00000 U q hrlLuhlr uuhurr,u r{f \ q< hunn 6 5000 30
33141,143 I-tulrghu qn2nrl +< hurn 1000 z 2

331,41,144 tllrhghn.l."pt g< hurur 1000 2 2

331 00000 Lhptup\fr2 2.0 +< htutn 12 500 6

331 00000 Tltu2urquLir2 ur\bng +< hrutn 700 20 14

331 00000
af hh\npqf tu \Lutr urqfrll r,u urnp,

urnLpf 1, rf npAurl-rnpnrl, d.nlntl +< htuur 50 2000 t00



331 00000
€uhntr hu\ruplrnurfr\trhpfr
qqulJ nr Lrnrpj tulr npn2tiutr hurtitup +< hruur 5000 1 5

331 00000 U11*phbh\r-uurnp ul1ur unrluruuuS f g +< hturn 3.3 4800 l5.84

331 00001 Uh-ph$h! ruurnp q nI ut tuull LLr q< hr.utn 3.3 2000 6.6

331 00002
UptlurLl uqr-uL11ur 1 0tl1 trlr2i;pn{
qhburnh$nrourr h hrurlurn

+< huru 110 200 22

33141141
I-uptuh urpl urh hr-inr2unr-furtr hudurp
rnnrptrlrLlhuntl

+< htur"n 1000 6 6

38431720 Ourb\uq uLll 22x22{,J +< tnnulr 3.6 500 I,B
331 91 31 0 Oub\tu u1-u\ | 24x 50titl +< huru 6.5 4000 26
331 00000 r Qhpilurllrtr pnLlp +< hurur 696 60 41.76
331 00000 .Qhptiullrtr pnrrlTd g< hurtn 696 60 4t.76
331 00000 thpdurllrtr pnLlp f-\ /.'t'< hurur 696 20 13.92
331 00000 'IhrlfrLr btu.lpru\ur1 1 0-200 +< huru"r 1.5 10000 t5
331 00000 9urqnrjur btulpur\ur1 1 00-1 000 +< hurur 3 s000 t5

Uprl*l1 qn1 fruufpnl hs N1 400 +< unr-rlr 24780 2 49.56

331 00000
Uf tuh{ruq oqrnurqnpbdutr uurhpfrl
&nqh\Lhp urtrhru urur \rutr
rhurPbPurlnntltutin N 1 00

+< huur 1500 10 t5

331 00000 'l-lbtnpffu pruu g< htutn 55 5000 275

331 00000
LIlr tu h tl tuq oq n urqrrp btiutr
durhnkrurr-uhtutruh on Q1 0mkl

+< hruur 20 1000 20

331 00000
Unhp[frqugfrnh duqur{hh
ulutnruhtuhiluh hunlup, nrhfr{hpuur

q< S*php s000 1, 5

331 00000 5[lurpfr pnllTa q<
hq 4400 1 4.4

331 00000
lnqtuurnp {rnrlrn}Lru\LuLr btur]uflr 2-
20

+< huru 48000 1 4B

331 00000 'h'rqutnnp {rntf nirrtu\r-uh butlurflr 20-
200

+< hurur 48000 2 96

331 00000 I-,,,l t,--^q- 1 4.r.L_L9uurlrrlr9_, r,vul +< huur 4 2000 B

331 00000
hhpLur un utid.{nq t}r tu pl,pbtrp
tuluur u htuhtlurLr hurdurn

cl< hrurn 64 100 6.4

331 1 1 490 Soth: tihluurtrlrciil STAT FAX '1904+ +< hr-uu'r 108000 1 t0B

331 1 1 490 hrupqhtr prilqSTAT FAX 1904+ 'f< huur 15000 I IJ
331 1 1 490 hulnqhtr lu1ilru A -15 hruilurn q< htuur 15000 1" t3
331 1 1 490 Uuhq A -'15 hurilup +< htuur 168000 1, t6B

331 1 1 490
I-tudq nhgfp\nruutnnp uLupph
hur-[run

+< hrum 5000 2 t0

331 1 1 490
I-u dq hrupnqhhurl frh tltutrpLu4frtnu Qfr
[rurtiuln

+< hun 6000 2 t2

331 1 1 490 Zuf .l h> hhtlururnl nqhurL urtr cl< htutn 10000 1, t0
331 1 1 490 Tltulnru ru t1 urunhu p Luh +< hrutn 90000 T 90
331 1 1 490 .[ru\rndtu1 lrti t]rnp&utrnp]r ur u br g< hurur 21, 3600 75.6
331 00000 'Inquurnp UU hrurn 8 20000 160

331 00000 Uuhplrl|rqtu glrnh ruhd.hnnghtf l,t p UU urnriJr 24 3630 87.t2

331 91 650
Fd2Llru!u0 fuur1-up dbLluOqrudl ru

oqLnuqnnddu0 UU hurrn 700 150 t05



331 91 650
Pd2lqu!Lr-r0 qLfuLunU db!u Oquudlru

oqLnuqnnddtr0 UU htutn 150 150 225

331 91 650 'llur2urq rutrfrl ru! bnc UU hurur 150 150 22.5
331 91 1 00 Pu!un bp lr ng h q LLU rlLr.l UU hr.utn 180000 T tB0
331 00000 tr*tuhr UU huur 13 400 5.2
331 90000 9b p drulrurf hb nru Llutnru r{uu p dru ilp UU hrutn 47500 L 47.5
33731 200 'Dru2nquLf2 urtltrrrg <uu hruu 1000 150 t50
33141129 'Ifilu\ <UU htuu 300 5000 | 500
33141129 llt uqlrl-ruuin <UU htuur 1800 33 59.4
331 91 650 Ztur,ir-uqqhuur <UU huur 4500 33 | 48.5
33141129 'Ihilpf ul ur 2tnul urhfr; Ll urhrutr <uu hrutn 3000 33 99

331 91 650 'Fd2hu\rut qilr*p\ rlhluhquriliu
oqrnrurnnnbtitutr

<uu hurur 20 150 3

331 00000 tru,,tuht <uu hurrn 20 300 6
33141129 Fd2\u\rutr aftitu\ q< hunn 50 6600 330
331 41 1 10 .lfrpur\uq 7x14 +< hr-ur-n 200 200 40
33141210 falrphntrflq 24G +< hurn 30 500 IJ
331 90000 9bpdu2Lu rf hb nu L1 ru nuu rirup d ru d p +< hurur 80000 4 320
33141129 'Ihilpf ul rr2uul rutrfrl r] urhuh +< hruur 3000 10 30
331 00000 tr*luhr +< qnllg 50 1000 50

331 91 650
Pd2lrulru 0 qtfuuu n U db L1 ru Oqru d1u
oqLnuqnnddru0

+< hunn 30 1000 30

331 00000 Clrpriur q< hurtn 1 70000 1 170

331 91 1 00 PLu llLn b pfr n g h q LL! d r4 +< hurrn 180000 I tB0

331 91 350 Zru2tituh4tutinrpl uh u 0 r{ru u ru1 pu 11
q< htuur 70000 1 70

CL.}UUb.t,C L0726.8

4UnLbLUlrSnfnt
91 32200 trhbqlrtr nhqnrllurp PU hurn 396 2400 950.4

+rbbuqwJ u4t -UlrPlrbl'
301,97622 flnLrlp 44 UU qnuh 1900 200 380
30197231, flrlpw u1 tu fu ut Q $ w1 1b f', n 4 UU hwn 700 7 4.9
30t97232 flnBwtuw1ult UU hwq 20 BO 1.6

30197231, flry ptu t4 wtt w Q $ u 
1 1 b n n 4 UU hutn | 500 3 4.5

30t97235 flr1pwt4wttwQ Qn6wQn( UU hwLtl 150 20 3
30197232 flrT pw t4 wtt w Q nbqfi u tp p UU hwtn t000 6 6
30197232 Up utquQwp faqpb, u brTtlwQ n ( UU hwn 90 30 2.7

30197231, Uptuqw Qw F ul Lwu tnhQ, wttgpbpnQ UU h*q 200 20 4

22810000 U q4 w n w Bn Bb qn wtt q tu I w Ln wt) u'u hwn t 800 3 5.4
22810000 *pwubbyal-ttuthb qhnp UU nwLn 600 25 t5
30t97231 bwtt pwthuttqhll UU qinLLh | 300 4 5.2
301,92L2r 9nhS qh4ftQutfnlt UU hutq 150 60 I
301921,28 *nh; shrturhtt UU hw tn 300 t0 3
30192 130 Uwqhq uh, Lfitutftntll UU htutf 160 5 0.8
30192100 ftbqhU 26xl BxB UU hwt{r BO 5 0.4
30192710 U*,Ahq unufittd U'U hu tn 500 7 3.5
30192930 nLnnfu qnhs UU hwn 450 12 5.4
30192910 tlLrtrtht |ndhbnd UU hwqt 300 2 0.6



30192910 ULnnhs dwt4wQbtt UU hwttt 700 t5 | 0.5

30192160 UwpQbp nb+q\rt UU hwq 450 5 2.25

30199230 Anwn utlahqwu 225"115 UU hwq t5 100 1.5

30199230 Unwn uuthL\wLl 92*I65 UU hwttt t0 100 1
I

30t92114 flwttwp UtthPh UU hwtn 600 5 3

30192154 Lit)hph Fwpdhll UU hwtn t 300 2 2.6

301971,1,1, 9wnhfi wubr724/6 UU LpnLLh 200 7 1,I.+

30197r12 gwnhSh wubry Nol9 u.u qnLh BO 6 0.48

30197220 utlnwU bpQwPlw 2B[d UU rnnuh 120 2 0.24

30197333 'lwlths UU hwq 1400 I 1.4

392412r0 ULtpwtft UU hwqt 900 2 t.B

30197340 lwQwQwpfi2 ulL hwq 260 2 0.52

30199400 lJUns pwthwt-tghQ UU nwLn 100 2. 0.2

30199400 tPwtthZ u-u nnuh 400 iI 1.6

500 1 0.5
3019732L 9wnhs thnPP UU hwt{t

30197322 \wnht [bt UU hwtl 1900 I 1.9

30199420 fln u7 p b 2n L[b b P lt lqlg- UU qnuh t20 2 0.24

30199420 <'lU pnuTP UU hwtlt t50 BO l2

fcu'ruuur,c
I

497.98

tPUI"PI'bta;r_-I tzoo t-; 120

St,SbUU +Ub U't

3983 1247

lJlu qtw h wttltl [fi2n9, lu qwbl n LP

b w fu w qb u Qwt d w Qb P b ut, b ft h

wlu qwh wtt I wtt b dwPP [utt
UU

3983 1242 fiLbltQbpuwL thnZh UU hwq s00 60 30

zgs3tus Tii*ttft hbqnLQ UU hwtn 800 50 40

3983 t284 llwqwQh hbrlnQ UU huttrt | 2000 5 t0

3983 1282 lbnwtth 2np ut) nw Ln 600 t00 60

3983 L283 llwLrwQh 2nP ut1 hwtn | 2200 50 fi0

39835000 lUqPwhwQLuP
UU hwt{t 400 5 2

3983s000 llwqwQfi rhwLrn UU hwut 1400 2 2.8

B7 300 26.1
19641000 Unph tpnuqPwQ lB]t UU hwn

| 800 12 21.6
19641000 lnnh tnn,'tntttlt l)0t UU I thwfa,

u.u hwp 400 250 100
19641000 II n n t tlt 6Or

UU hwra. 400 250 t00
19641000 Unph LFnqPwQ 391

39221490 Uqntuq IJ'U I hwtn 200 150 30

39221.4r0 I I'lE UU hwt{t 900 t0 9

UU hwttt 4000 5 20
39221.41.0 Udh lt wrlpwhwQwP

3922433r \nq1 UU hwrn 800 5 4

2500 3 7.5
39221.420 A,,,, nnt ht t tlt rft t tnnhtnt dnn UU hwt{t

uU hwttt I 300 5 6.5
39221430 h rnnt,,ftr t rl t hr t tr nr t tl th htllIuLn

U'U hwtn 2000 5 t0
39221.430 tu n q wb w q ul * qb ltr-! *,1 *!--
39221480 l) n t n r,,n r t tl th h t nn t t tll tllll ut) hwttt t000 5 5

UU hwttt 250 120 30
18421130 Qbnttnq

UU hwttt 40 500
20

3922L430

rlbqn p qph tt, n ut p w Qbbfr Lnw F pb lt
<rttthtthnh

t000 t00 t00
33761300 GnBb utpht UU hwq



34921440 Unptudwtt UU htutn l 6700 6 100.2

cL'IUUbl,C 964.7

Ct't'UPUI'U
3t510000 | tt filtwq[wb twdu] l50W I

qW UqfuLelrbf

31 52121 0 I n L tl lt tt b u g btt tqt ut1 lt tt p I q h t)

thnh tt r tnhttnn thn trtttfrtr 60t ttf
+< hwt{t 1 500 100 150

3t 521420 IJnwutpwqlt pLriwtltnL pry 30x30u[ +< h*rt, 5000 20 100

3t 52t s00 Unuuqwrlfi pLuwt4tnt 1bry lSxlSutl +< hwttt 1 500 20 30

3t 52t 21 0 Ln Lu w tnn I w nu u Lnw rllt 60x6 0 u tl +< hwt{t 7000 20 140

3t 521 500 Anwuqw1lt lnLututpnL 1br1 l2-0ud 'f<- nuLn 5000 12 60

31 521 500 Lbn twfq B W (+< nwLn 1 000 F\l I 50

3t 521 500 Ifb qw qw u1 1w u qb rynutb q u! Lilt) q< hwtn 5000 10 50

31 521 500 lJt t n Ldhb b 4ntub fi uQ tutt +< htuq 5000 10 50

42t 3t 480 AwQwttlt [fignLQ 70[LI +< hurm 2500 20 50

421 3t 480 AwUwtth fiigntQ B}d[ +< huur 2600 20 52

3t 521 500 bdnnnnwLt pnhwQ +< hwttt 1 500 10 t5

3t 684400 4wprywQ bpQtltbqutbng +< hwq 800 10 B

3t 684400 UbswLnhs q< hwtn 800 10 B

444fi100
UnpwQ gpft/utunp gplt,
,>t, rr>hltt t tt lnn/

+< hwq 6000 10 60

441 61 l 30 Ltlwqwnwtt +< htutlt 1 3000 10 130

441 61t 30 Ltlwg w p wb fi qn$nb u lt$nb lt
n th thl tnt I

+< h*t{t 500 20 t0

441 6fi 30 Ldutqunwbfi 41nLPb1 +< hwqt 500 10 5

4441 t75l 2nLqwnwbwQnbp +< hwttt 25000 6 125

444fi751 Q n Lqw p wb w Q nb plt q n $ nt: (l< hwtn 1 500 6 7.5

44112760 6Untfu funrtnLlLuQ 60utl +< hwtlt 700 20 t4

44322220 lnuwbBh ltup u.lqbdb 2x2.SLII +< I 200 300 60

44322220 lnuwbBh twn utqbdb 2x4dtl +< d 250 200 50

44322220 (nuwbplt ltup qrlbdb 2xl.5M +< LI 100 300 30

44322220 lnututtplt bpQupwgtlwb PP 3[. +< hwt{t 3000 10 30

44322220 UbQnrufu /ltqnlbttttt/ +< hwq 100 20 2

44322220 lnuwbplt ptud tubfwtt qn L(t +< hwtn 100 10 I

44322220 9wluhs 'f< hwtlt 30000 20 600

44322220 9 w lu h : L4 w qhtr w I p w g Qn r1 +< hwq 1 000 25 25

44322220 Qnrhnn +< hwtn 1200 10 t2

249t 0000 U+b unufittd q< hwq 1 100 10 fi

44322220 6wph qwUg q< I 20 500 t0

44322220 Utlwnh [w1wQ +< hwtrt 200 200 40

44111414 I'bnU pqbputullttt q< uq 4000 300 t200

441fi420 l"bnUh qnLltt
('l /'. r< hutqt 1 000 100 t00

44322220 4hbqht wpltn +< hwttt 1 500 20 30

44411751

2nqwpwtuwQntuplt

prltuQ/u1wutpQnQ/ o l/2 l4nrlPhg +< hwt{t 1 500 10 t5

44921 500 Ub(t u tlwth Lt qh ua u wthb 30 Uq +< hwrlt 3000 50 t50



44921 500 UbthudwthU [btw rhtt 30Ue +< hwq 5000 20 100

44322220 4urhU tlbd +< hwn 1 500 20 30
44322220 awthlt thnpn +< hwn 1 000 10 t0
44322220 1'bnUh |ndhtt q< hwq 400 20 B

44322220 3nLqutbbpQ +< Uq 1200 20 24
44322220 lqQwpnLnp Nl50 +< LT 150 20 3

44322220 lryQwpnLqp Nl B0 +< I 150 20 3
44322220 lqQwBntnB uulnLbghq +< hwq 250 100 25
44322220 lbnwlunuh L*p q< I 50 100 5
325sfi 60 1b nw lu n u lt tu t4 tu p ut Lp +< hutq 5000 10 50
44322220 $nLd [bb +< htuqt 300 10 3
44322220 Zwbth tdwqwnLubh +< hwtrt 6000 6 30

44322220 b p Q qb qwb lt 1Qu g u p tutt
I thnr t t tfnn nt r rf t h t nh

+< hwtn 50000 1 50

44322220 UutLhLth puwhuppltl +< Ltq 1 000 10 t0

44322220
l-lwg tu p wtt fi 6n p w Q pb ryut pd ut U 4, n
nf,nn,nntl

q< hwttr | 5000 t t5

44322220 9pwubfuwLtwlht, wpnn +< hwq 8000 10 BO

CL'}UUbLC 3941.5

U4SNUbPbT" rcn qL <bUSUUUUbP
3435t200 ULI tn n fbpbb w t h uh h |tt b n u.u h*,.t, 40000 o 240

P u umutr b
S q w qp w Q tutr ut Zlu w t1r- utttptt b p

22800000
Uhbtu hurutu \ lr tuilpnlluruI np
ndrLubuh punrn

q< hurur 85 3000 255

22800000
lltlpnL pu urnp pd2llur Llttih pu-r ptn ]r

rlhqnrtr
(I< htur-n 5 10000 50

22800000
llr-lpnrlunnnp pd2!r-u \urL p u pur]r
lruqLI

+< hruur 20 1000 20

22800000
Unnrl2nrpl ruh r-uhd.tru qhp
urtlpnrlururnp-qnfli\ft,hf \ru\utr
hruurnr.ur-nnrnruh L nnrihcr nnil nn

+< hurur 1.2 100 1.2

22800000
OLrit qlrp dfrLrLrnr1tr pd2\urllurh

\ruqilruLlLIrqnr pJnrhnr il 1tup.-
qnnbhpurr hlr hhuruq nurnr pr tutr

+< hr.uur 2 62000 124

22800000

Qptuhgrutluurl tuh ru ripn r Lur ul n p

u1 nfr\ frbfr\ Lu \ rutr pd2 \ u lutr
\uqdu \hFulnLpJ nlhtrhpfr pdf 2\trhpli
cntunnrdlihnh

+< htutn 700 15 | 0.5

22800000

Qptutr g tu titu tn1 urtr u rI pnr-lurunp
q nflr\ frtrlr\ Lu \ urti pd2l1 ru\ tuh

\ruqdu\hpu,lnr p1 nrtitrhpl-r
unnr-lpnr p1 ruh ur nruphtul lrL
quhu1Lltrt[urL bururu.lrrr 1a1rrr hlrL1r

tiruurnrgnq tilr2fL pnr dur2luururnrllr
utturuurtuhph

(l< hurur 700 L2 8.4

22800000
€urr1{ru b p rihbur hu uur\f
rurlnnu rurnnn ndctr r.uL uh otunurhc

+< hurur 3 300 0.9

22800000
9ptutrgutiuulurir
urhu2luurnnrhur\nrpl urL

nhnnhbhhnh
+< hunn 2000 2 4



22800000
Ungfrurpu\uh rlru phpfr
onurhctur.ftuurtrutr

+< hurur 2000 1 2

22800000
U ngfnu gr"u\urtr {rur phpfr 2urhtunnrfrh
untlnn urhll,htuhp

+< hurur 3 2000 6

22800000
Uhtldtup tr urpurnh1 r"u p qur1rftuhhhpntl
tnptlnq lhtlh ph qpuLgtutiurnl urlr
'l00rahnra

+< hurur 700 50 35

22800000
Qpurligurr-ttuurl urh . 1 B tntu p h\-tth g

prupdp urhd.urhg tnhurjfh urlgtnh
+< hruur 700 1 0.7

22800000

UU,.ll b tunul nlpl nr-hhLp tfi-u rnnrgnrl
pdZ\h pbuipnrpjruh \turf u111

phurpnrpl urh rf n{rnfunrpl tuh

orr'.nlrar'i*U AU

+< huru 5 1800 9

22800000
Unnrl2nr-p1 ub ur rrut 2trr-u1 f h

q urhqtulrtfutr bur ntr.i1 nrpl nrLrlthph

iluurnrqr-hutr hur td tu ntiurl-r d'tr

+< hr-uur 5 62000 310

22800000

'tf dur\ru qptu Lltulr \uPntr
hqptu tf r"u \f ; /d2rntlru b/

u luurnpn2nuitrhplr qpruhgdurtr

huiluin

+< hurur 2 3000 6

22800000
1|ruqtuLuhp hfr{utr4nrpl urh

rl hntuhutr nn ub urh purnu)
+< htur"n 20 300 6

22800000 Uilrlrntfruql.p dl, 039/Y-88, A4 +< hurtn 5 700 3.5

22800000

Url tfrnf ur h thty"rr q|-rP

unnulltrtupn r dr.u \tult "l"Ll.\iltltft\ 
*l h,

pudurhrfnrlrpf , 1-.nr dupulrlt pdhZ\
uurniluunlnqh u 2fututnurhPf
htu2{urntiurh d.Lr 039-2 q-88, A4

+< huu 5 100 0.5

22800000 Qptuhgturirur.nl r.uh 1 0!e (l< hutn 700 6 4.2

22800000
Uqu-ruup\iltuh ur-u pur b plrg rlnrpu
h fr{tuir4h t' p}r h ur 2 tltu n tl r.u h r,i r-u r'n1 ur h

1 00n

q< huur 700 1- 0.7

22800000
afhh\npq|ru\rutr hf tltutrabhPlt
hr.u rtl ur niltutr dur urt tuh

+< hurur 700 t 0.7

22800000

Upqurh4]r qtupruhnglr
hi'u-ltuhrlnr p1 nr htihpfr
hhrnruqnurnrpl nr-hlrhplr hu 2{urniltuh
dururtutr

Y< huur 700 1 0.7

22800000
Ztll.h tr btrL4\uhfr rutrhurnu\uh
prunln

+< hruur 60 1000 60

22800000
Orrlhqirp LurFnpulmnP
hhururcnr.nnrptnrhhhnh I 5x1 0

+< hrutn 3 20000 60

22800000
Lltipnrltu urnp h[t] ruL4]r pd2\tuLlutr
prrpur, 0251 flt-87 4pttPP

+< hutn 12 5000 60

22800000
Upqtuh4p u1tupruhngP

glrrnnpqlrr-u\rutr hhurru qn tn nr p1 utr
nrnLqhn

+< htuur 5 150 0.75

22800000 .tdrupn! fr brunurlnr-plrutr phpp +< hrutn 1 200 1'
I ..+

22800000 <Dnlu utrur\rfutr prupqr49 +< hruur 10 600 6



22800000
Zqhh hu\nqnrpjurtr qrupuur4hp
burtlLufrhpf htu2{tundulr &L /d.h005/

+< hunn 5 2000 t0

22800000
trtup&p nlt"hh ntfhh {tuprirutr
urhhurtnurL tuh r-u r ruh, 'A4

q< hrun B 100 O,B

22800000
bphlutulI pd2\tu\tuh hu\nrlnr-p1 urtr

urtlpnrpurnnp ptupu (t tttu)
+< 1-rtutn 170 s00 B5

22800000
bphfurul I pd2\ru \urtr huLl nrlnrpl r-uLr

unlpnrlururnp ptupn (*tlZh\) +< hurtn 170 s00 B5

I

22800000

Zpt{uh4ruhngh bpnrr-f, hhrl
rJruuhtuqirtntu \tuti \htrtn pntrlrhpnril
trphfLrtutrt p| trhI tir-u u Lr ur qlrtntul1 ruh

iunphp4utn{r-np1u.rtr nr rlhqfrp
/r-rullrtnutl/ hur{hlLlub 23, A4

+< htuur 5 100 0.5

22800000
€ur ritlubp hp b futulfr pd2\tu\ rult

hullnrinrpl urh urilpnllurrnnP ptuprnhg
+< hurur 3 3000 9

22800000
Ltu fu Lu btitr r 

i1 urlL tt1 ur ur p nhurd
/duLfl.rLu n 28-32 nruntuBLULrruh/

+< hur,n ? 500 1.5

22800000
.lfrdur\r-uclpur Llurlr llurpntr &Lr 0 2 5-2 nr,

10x10 :

+< huur az 1000 2

22800000
'Ihnuhluub /1 B urtupL\urtri

S"lt*t-tpilttrb h qpur\tu gnrpl n r-tr 44
Y< hrutn 5 s00 2.5

22800000
bphlLrurlf pd2\ur\urh ptupur

rnnur/unqhtl
+< hrutn 40 1000 40

22800000
tt rutrfu urpqhdtf u1r-u n{ur u ur r-u rf trhpfr

Durnu 063&Lr
+< hrur.n 35 800 2B

22800000

.{rnruhq}r h2urhtr h pp hnpru bhfr

ilntn, npnhg un\ru3nrPlultl

4hqpnui .i*lp[ ulhtnp L +h.ilt
rdrtrh hrurlht.14,A5

q< hrur.n ? 500 1.5

22800000

tlnnrl2nr-p1 ru ruh&lr-qhp
turlpnr-pur urnp-u1nfr11fltlrh\*\*lt
huruurururnr-1a1 r.uh U t-t q rih g rnpr] nrl

q< huur 12 400 4.8

22800000 Utf rhn thru qh n LL n ilru uhruqhtn fr
q< hurur 6 200 1.2

22800000 UiltJrnrlrurqlrp &tr 039/Y-BB, +< hurur 6 100 0.6

22800000 lurr.irunnu gnunnr-titrhpfr fuh pfuh\ q< hruur 9 50 0.45

22800000

Utf rlintlru phpp ilru pqur4ul Pngb
uurhlr urnnrlpnLp]utl
qhruhLuutt[r.ul-r

q< hruur 5 500 2.5

22800000

lJutllrl u\ r1h nruhur utrL pf
uh nr.u \ urb htu unr-hr"u gilurh

qhruhruuniruh purn f+u trtrh pfr

/tnquhhnh hurilup/

+< hurur 4 500 2



22800000

Uruh4rlur\ 4hnur huruhh pfr

uhnru\u h hurunr-trur grlurtr

qburhruurttruh Luul Ouhhhplr
/unqhtrhhnh hutiun/

+< hrurn 4 s00 2

22800000
Qpuruhh3u\ulfrtr
qnr.uhqurlururt tub 1008.

+< huur 700 5 3.5

22800000
rrrupfrtrhurluJ hh phrl n r-hh 1nr p1 urh

rlururtruh L50p.
(]< hr,uur 1 800 30 54

22800000
'l"hu ur {tu u ur nrilh h p fr
qputrutlnptfruh iltuur3 tuh T Ophp p.

+< hurur 500 L5 7.5

I

22800000

Utrur2|uru urnr-hu\nrp1 tuh ptrpp.
qpruhgriurti tftu ur1 r.ub iluh\ iul1 urh

100p.

+< hurur 700 5 3.5

22800000
Pru r1{urbBl, b n h qpurh gu rlur ui1 ruh

100BhnB
+< hurr.n 700 5 3.5

22800000
€urrpluibpt hph qpurhgrutiur.n1 ruh

12OBhnB
+< huur 1 300 2 2.6

22800000
LI*IF r"ftur,n1uh 100 phpp,
hurrhtuunn

+< hurrn 1 300 3 3.9

22800000

trdfr2\trh pfr urttuu \-1,
hru 2{h rntlnrpS urh tlur tn1 ul-r

50BhnB

q< hutn 400 10 4

22800000
TItu ur tlru u ur n rilb bpfr

qnluhqrxtlrutnt ruh l 5 Okq
+< hutn 1 300 3 3.9

22800000
trd2\u\ruh q ruuipru uurnr-\lrhnh
qnrulrquiltuurlruh tl 0 ty

+< huur 1 300 2 2.6

22800000
bphluulihnh lh""lurhuhp
huL nn nr-talulh tluurturh 5OBhnB

+< huur 1 000 10 t0

22800000
Qpurtrgr-urlr.uurl uh pfrnpf rifr\ul-t
hhuru qnurnrpl nrlrh hp]r qptuhgritul-r
25Ont nn

+< hruu 2200 8 t7.6

22800000
Qptu h g uni u r.n1 tuh rl U'[
hhtnurqnunrpl [rnrhtrhpfr qpr"utrgrlr"uh

hutltun
+< huur 2000 5 t0

22800000
Q'purtrg ur-[u ur1 urh titqir
hhmtu qntnnrpj nrhhplr qpurtr gtlutr
200rahnn

+< hurur 2000 4 B

22800000
Qprul-rgru ilru rnl uh hnpd nb r-u 

1

h hutu qnurnrpl nrbbhplr qputr gtiurtr
+< hurrn 800 I O,B

22800000
Qptu lL gr-u r[r-u tn.1 utr h n p dnh tu 

1

hhurru qnunrpj nrtrhhplr qptu hgrluti
+< htuui 700 L 0.7

22800000

Uplrutr \il.trh\*\*lt
ru ul tu p ur tn tu3 |rh hh ur ur qnurnr-p1 urh

qpruhgruriurtn1uh, L50p.

+< hruu 1 800 6 t0.B



22800000
rr rlurirp ir ilruhpkup ul"ru \rutr
hhurr.uanurnrpturh &trr.uBnrnB N4

+< huur 5 200 1
I

22800000
Uurhpkurprutnu\uh
hhurr-u q nunr-Bt tutr d.Lrru pnr-q p, N 2- +< huur 5 1000 5

22800000
'I lru p r,r-r 11 rn t. p lr n q |r dtu h p l.r-u p r,uh ur 11 LuL

hi.r-nruclnr.nnr p1tuh &hr-u pnrrlP N 3
q< hurr.n 5 200 I

22800000
U'iutrp ku p urtru L1 tuti
hhrnurqnnnr ptuh &l-ruBnr-lP N 1

+< hutn 4 2000 B

22800000
Znpilnhr-u 1 l-r h urtu qnurnrpl urh

&hurnnup
+< hruur 3 4000 t2

22800000
U hpnlnqfrtuQurb hhtnru qnurnrpl rutr

&trturanrqp /MRP/
+< hurur 3 2000 6

22800000
U fpnin qf ur L1 r-utr hhtn ur qn tn nr p1 urtr

dhtunnr,np /tunr-tfF, ntiqnt u/, A5
Y< 1-rr.ur.n

.)
J 1000 3

22800000
Up1 ruh ppnp irilf r-u \urtr
hhtnruqnurnrpl uh dlrtuPnrrlP,
/or hl-r nr hq uqrl urb hhrinqt nphtr/

+< hurn 3 200 0.6

22800000
Up1ruh pf nplrtl[ru\urh
hhutuq nurnr Bt r-uL d.htupnr-q P

+< hurur 5 5000 25

22800000
Uplutr pfnpfrifu\Lutr
hhr,nr-uqntnnr p1urh &Lrurpnr r1p

/rIh L trn i.t LrI LL uihhp/

q< hr.uur 3 500 t.5

22800000
Up1 tu tr plr np|'rti[ur \urlr
hhurur cpr tnnrpl uh &Lrtu p nulp
/Lnurqntnqnulrftftu/

(]< htuur 3 500 LJ

22800000
Up1 rutr p frnpfrtllru \tutr
hhtnruq nunr-p1 tuir &trurPnrq P

+< hunn 2 2000 4

22800000
Up1 urtr pfrnp llif u\urlr
hhuruo nr.nnrtat ulh dtrtu Pnrrl P

+< hruu 2 1500 3

22800000
Up1 urtr plrnpf ilf tu Llurh

hhrnuqnu-rnrp3tu[r &htupnr qp
qttnr-Lnqu

-f<- huru-t 2 1000 2

22800000
Upquh4|r quptuhnglr
gfrun1nqfrtu L1,uh ptrhntpS urh nrr1hqfrp

+< huLn 3 4000 l2

22800000
alrLl\ nlnqf u \tuh punr\f
hhtnr-uo nr-nnrpt urh &hurBnr-l p

+< htuur 3 7000 2l

22800000 Uhqlr hturr-uqnurnr p1 tr-rL dtrupnrrlp g< hrurn 3 12000 36

22800000
Up1 tutr \ f trlr\u \u,rL turq ur pru r-ntu1 lrh
hhu tu cpr urnr p1 tuh &hru pnr-r1p

q< hurur
a 10000 30

22800000
Up3 ruh ptr4hurtrn.P llthlrLt\u\tuh
hhurur q nurnr-p1 ruh &hurPnul P

q< hur.n 3 2000 6

22800000
Qpiuhgtutiur u1 tuh hhrl
iltuulrtuqhurLhnh gprutrqlntltr hpf

+< hrutn 700 50 35

22800000
Qpuhgrutiurtni tuh 4hr1-r-r urnr-fuhnh

hrutdurntitub huriluP
+< hluur 700 1 0.7

22800000
Qpu hgurt[ur tn1 r.uh ph4nr-hruPrubh

hruilrun N 1"

+< hrurn 700 L 0.7

22800000
Qpurhgrur.Iuurl urtr ptr4nr-h rupubht

hurilun N 2
+< hurur 700 1 0.7



22800000

U2fu ru ur ru dru tiurhur \fr
hur 2up\riurh qprubgruilruurl urh,

L uzbrur.uut

+< huru 1 500 4 6

22800000
'It rlhpir qprutrgruilur- u 11 tuh,

!ur2hqurtn
+< hruut 2700 2 5.4

22800000
'Ih r1b pfr qp ruh gunftu r.n3 ruh,

hurzbtqruur
+< hr-uur 2500 4 t0

22800000
Qprutr gru durrnl urh utrru3 frtr

h ruh> h ph qpurh g tf ur!.1!!ehg
+< hurur 1 800 I t.B

22800000

Qpurhgurilruur1 iuh hbr1

{uuhur qh urtrh pfr \ruh2hPf
qniultq,-i.uh, 1 5 OPl, PP

+< hutn 1 800 I 1.8

22800000
Qpiutrgrurituurlurh

4prudurphtu3 bb qnpburnnr-3 ptrhpir
+< hruur 2500 t 2.5

22800000
'Ih rlur rnn rluru3 frtr &tr

N 3, rlr nfuhr.u ur nr-c {nq r$qh
+< hrur.n 3 10000 30

22800000
'Ihrlurunilutu1frh &tr

N 3, rlrnluhur tnnr-gtl nq qhrlh,

ut umdhLnLl,

cl< hruur 25 1000 25

22800000
'Ihrpu urnriuu3 frtr &h N 2, hnqhrlhur

h1 nr-B u1 urpnr-hu\ n{ +htlh-
q< hruur 5 10001 s

22800000
'Ihrpu urnrluurl frli &h N 2, hnqhilhrn

h3 nr-p qrupnr.hru\n{ r1h1ft,

u uurdhbrt{

+< huur 25 500 12.5

22800000

'Ihrluurntlu N 4, r.ih \r-ubqruil1 ru

\*rl pruqtitu\fr rlhrltPir tr

4h rpuhl nrfah plr p ru g pnrpftuh

hruilun

+< hurr.n 5 1000 5

fA t P*P&P rnruPlrPfr urtr&fr

22Booooo lpdZ\*n"gfrurlui\utr
I rhnp&urPbhnrPl urh nr{ hqhP

+< lhruur 5

s00

2.5

| 
€ urrp{urbP rlh b tu hru u ur\fr

22800000 lrudpnr LrurnnP pd2\ur\urti

lptuprnhq, A5

q< lhutn J

2000

6

22800000
Sgnrpnqprulhu,:h
hhuruq nurnr-p1ruh PPrh\ 45

+< hr.ur,n 5
100

0.5

22800000
ft hlln qhh hh ur ur qnr.nnr-p3 urh

ptruhb, A4
+< lhtutn 5

1000
5

22800000
Opnptu&ulhurllrh
hh urru q n ur nr-p1 rub F Lrub!.A4

Y< htutn 5
200

I

22800000
Oprpur&tuStruilfrh

hhuluqnurnrplurh Pl uhh, R+
+< hrur.n 5

500
2.5

22800000 fthtrnqhh bpurP 33x43 +< hurur 250 200 50

22800000 fbhlruqhh bpurP 27x33 +< huur 230 200 46

22800000 fthtrtnqhtr bpuP 2tq +< hurur 200 100 20



22800000
U 2iuururtu du-nIiuhu 11 ft h* Zrlru pllh

urhrthltulghp, 43
+< hruu 1B

50
0.9

22800001 thur. qur-rlhnh plurh\, A4 q< hrurn 5 10000
50

Chnurtlhtrn 1978.5

4hpwbn wtt w wqwttpttbp

45400000
U bQ w 

Q lt tlb p tub np n qf wtt
t t roh t t t t t nt t tl tnl thn

UU pwn.I 1 4000 30 420

EL'}UUbLC 420

+ UuftUgnl'fhsnF t"Lbl''

65200000 .Q!nnrgilurtr b untul nrpinrh UU rypwLI 3410000 I 341 0

6s 1 1 1100

gptuti ur urur \ tu pru prir,u L

btunulnrplnrh
uU rypwI t Ofi 000 I t]fi

6s000000
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